Year End Review II


Exponents and Functions 
Chapter 4 and 5
Exponents
1.  Simplify the following
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2.  Evaluate the following


a) 
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b) 
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d)  
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3.  Simplify


a)  
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c)  
[image: image13.wmf]4

3

x


d)  
[image: image14.wmf]2

3

x

x

×








4.  Simplify:


i) 
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ii) 
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5.
An mammal’s metabolic rate of q calories per day is related to its body mass M in kilograms by the formula 
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Functions

1.
Which of the following are functions?


i)
{(0, 0), (1, 1), (2, 4), (2, 5)}
ii)
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iii)
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2.
Given 
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Extra practice: Page 246-247, Pg.326-327

3.
Find the domain and range of the following graphs:

i)

ii)

iii)

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	


D: __________________
D: __________________
D: _____________________

R: __________________
R: __________________
R: _____________________

4.
Given 
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b)  x if 
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5.  Determine if the following are linear, then determine the rate of change


	a)
	x
	y
	b)
	x
	y
	c)
	x
	y

	
	0
	-4
	
	2
	5
	
	0
	1

	
	1
	-3
	
	4
	8
	
	1
	-3

	
	2
	0
	
	6
	11
	
	2
	-7

	
	3
	5
	
	8
	14
	
	3
	-11

	
	4
	12
	
	10
	17
	
	-2
	9




6.  The following graph shows how the height of a burning candle changes with time:


	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


a)
What is the vertical intercept and what does it represent?





b)
What is the horizontal intercept and what does it represent?



c)
What is the rate of change and what does it represent?
Height (cm)





Time (min)





8





6





4





2





0          10          20         40          60
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